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QUESTION 1

What are two characteristics of the NFV architecture approach? (Choose two.)
A. It decouples the network functions from proprietary hardware appliances.

B. It provides 70% more efficiency of network infrastructure.

C. It is specially designed for Internet providers.

D. It is specially designed for telecommunications service providers.

E. It typically includes a hypervisor.

Correct Answer: AE

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2016/pdf/ILTRSPM-2022.pdf

QUESTION 2

<operation> /<api-entry>/<path>?<query>#<fragment>

Refer to the exhibit. Which two URI entries are optional and functional in this RESTCONF URI structure? (Choose two.)
A. fragment

B. query

C. operation

D. api-entry

E. path

Correct Answer: BE

Reference: https://www.ciscolive.com/c/dam/r/ciscolive/apjc/docs/2016/pdf/DEVNET-1081.pdf page 25

QUESTION 3

“regquest”: {
“url®”: “http://{{server}}:{{port}}/restconf/data/l3vpn:vpn/l3vpn=test”,
“method”: “POST”,

<snip>

Refer to the exhibit. An automation engineer has created a RESTCONF POST to configure network devices. Which two
tasks are accomplished when the code is executed? (Choose two.)
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A. If the specified configuration is already in the running configuration, the command is replaced by this request.
B. If the specified configuration is already in the running configuration, the command is not replaced by this request.

C. If the specified configuration is already executed in the running configuration, the command is merged with this
request.

D. If the specified configuration is already in the running configuration, the command updates this request.
E. If the specified configuration is not on the device, the POST request creates it.

Correct Answer: DE

QUESTION 4

Which statement describes an asynchronous APl communication?
A. Asynchronous communication waits for a response.

B. Synchronous communication is with a central orchestrator.

C. Itis not necessary to wait for availability of a resource.

D. An application can freeze if there is no response from a request.

Correct Answer: C

QUESTION 5

pyang —f tree family.yang

module: family
augment /ncs:services:

| SRR rw family™ [father]
, X check-sync
L w input
i w outformat? outformat4

+--—-—W (depth)?
+----: (deep)

|
T G t— w deep? empty
|  #--: (shallow)

Refer to the exhibit. What is the significance of "*" before the "father" leaf that is shown in the pyang tree output?
A. Itis a node list in a leaf type node.

B. The father leaf is a key in the family list type.
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C. The leaf father is read-write in the family list.
D. The node father is read-only in the family list.

Correct Answer: C
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